K [mag]

J [mag]

2300 5./0 1.00 3.60 o 1.0

V, J, K [mag]

4O T 10 L e T
R Aiia [ 1 b |
:: Co ] [ ] Fl= R
ot : - r 1 t i
‘ : N 1 |
EIR o& 4 1 L b T 6L _

% > 4

@@ BXE BSOS - [ ] e
L0 L ]

§§% 88588358 % SRERET 98 a ]

10k <><><><>QOQ ] H ] i 1
i [ ] 4= -
15+ B r 1 [ ]
o) E N N B S B R B ] 2 S P B

0.0 0.2 0.4 0.6 0.8 1.0

— phose ¢y,
=
N
o
=
:
ES
g
Q
£
=
o
o
E
N
= X X X =
1.0 T T T |
8 os— —
S - =
T os— —
.9 e L 1 T e 4 A | e I 1 -
8 04— =
S e A L A U B B S A A —
§ 02— ]
00 ‘ ‘ ‘ 3
0 100 200 300
time [yr]
T IR ‘ =
oo 098, Do 5§ s 1
L A A R ; ] E a0k \ 3
[ =] b d a o 7 E b 3
SEE-E A 5 9 12 exioob ; 3 Tens 2800 K
T8 bobg 2o 1 !
EoB oo 6 %oo! 18 sxi0p 3 g L 5.70 Lo
Saf oo 18 ; £ 2 Mass 1.00 M
Eoe L 1% a0t i 3 ©
[ 7. e 1@ E i E -
—r2fp o) S E 1 8 x10E 3 ‘g<c O) 8.80
I 1 A S T S ok i ¢/0 2.38
N — T " T ] 40F 3 AU 6 km/s
r ' ' ' ' ' ' o ' ' i E | p
Fo et Lo L 1 E E
R A A A be o 1 =k i f, 1.0
THOL e g D ke 3 E
Posie 4 5o° S A S o 1 class wn
-ask = 24 A oo 1 Zar
S o S B 1 Mdot 315 + 271 -107° Mo/yr
_sof o & - 1 gioE E R 24.00 £ 2.80 km/s
[ e B ' ] < g g feond 0.414 + 0.088
T e Dol ] f 1 po/py 2322107
-2.5 m %u 1 TR L u Lo = = Period 294. 4 = 0.806 yr
e e 0sF 3 Rodwe 307 R
s } L 3 s 1 logg -0.54
E . 1503 LS E o [ ; 1AMy 0.574
Eo L 204 Lo EREE ]
- %y BT LR ERNE- A i .
S E B8 pg ‘ Looe 3 S oale S 1 Colour mean / min / max / range
£ 7F - ‘5\? g OF ER- T 1 (B-v) 4327 374" 515 1.40
E B2 ER 1 (v-’ 604 524 712 1.89
BE O g o E-T {1 (V=K) 1458 12.96 17.05 4.10
E oo U g 02 B J—H 228 2.06 2.60 0.54
°F 4 Lo 3 [ 1 (J-K) 400 358 454 0.97
E Lo E L ] (H-K) 173 152 194 0.42
10E LB Lo Lo L L 3 0.0k L L L L =
121122 137 138 149 150 160 162 130 140 150 160

time [yr] time [yr]



Note: Time increases downwards. Scales OK for last curve (bottom black)

[s/wx] Ayoojen sob

log r [em]

log r [em]

log r [em]

log r [em]

log r [em]

log r [em]

log r [em]

[;wo/B] Aususp boj

1000F

log r [em]

log r [em]

log r [ecm]

0.0L_=

14.0 14.5

log r [em]

13.5

[;wo/B] Ansusp boj

1000

log r [em]

log r [em]

log r [em]

log r [em]



